
cfh ldlt 2075 ;fn cfiff( 25 ut]sf lbg >Ldfg\ k|d'v lhNnf 
clwsf/LHo"sf] cWoIftfdf dfnkf]t lgodfjnLsf] bkmf 5 adf]lhd ul&t 
;ldltn] o; dfnkf]t sfof{naf^ crn ;DklQ -#/ hUuf_ cf=j= 
2075.76 sf] nflu kfl/t /lhi «̂]<;g k|of]hfgfy{ tkl;n adf]lhdsf 
;ldltsf kbflwsf/Lx?sf] pkl:yltdf tkl;ndf pNn]v ePsf ufp ljsf; 
;ldlt, gu/kflnsfx?sf] /lhi «̂]<;g kfl/t k|of]hgfy{ #/ hUufsf] Go"gtd 
d"Nof°g sfod x'g] u/L tkl;n adf]lhd lg)f{o ul/of] . 

 

tkl;n 

1= cWoIf   
    
2= ;b:o   
   
3= ;b:o   
    
4= ;b:o   
    
5= ;b:o   
 
6= ;b:o   
    
7= ;b:o ;lrj  
    



cfdflGqt 
1=  
2=  
 
 
 
 
 
 
Go"gtd d"Nof°g k'l:tsf tof/Lsf cfwf/x? 
1= k"j{ d"Nof°g k'l:tsf 
2= a(\bf] ;x/Ls/)f 
3= hUufsf] d"No j'l$ 
4= a;fO{;/fO{÷hg;+Vof j'l$ 
5= #/ hUufsf] vl/b ljqmL 
6= ef}lts k"jf{wf/sf] ljsf;nfO{ dWo gh/ /fvL Go"gtd d"Nof°g 

k'l:tsf tof/ ul/Psf] % . 
 
dfnkf]t sfof{no /+u]nL df]/+usf] sfo{If]qdf kg]{ crn ;Dklt -#/hUuf_ 
xs x:tfGt/)f k|of]hgsf] nflu dfnkf]t lgodfjln 2036 ;+;f]wg ;lxtsf] 
lgod 5ævÆ cg';f/ ul&t ;ldltsf] lg)f{o cg';f/ cf=j= 075.76 sf] 
nflu gu/kflnsf / ufp ljsf; ;ldlt If]qsf] hUufsf] b]xfo cg';f/ %'§f 
%'§} lnvt kfl/t k|of]hgfy{sf] Go"gtd d"Nof°g lgwf{/)f ul/Psf] % . 
 
lg)F{o ldltM 2075 cfiff( 25 ut] 
nfu' x'g] ldltM 2075 ;fn >fj)f 1 ut] b]lv 



1= cdfxL al/oftL 

l;=g++ ljj/)F 
cf=j=  

075.076 
1 cdfxLal/oftL uf=lj=;= j*f g+= 3, 9, 4 sf 

uf=lj=;= ejg hfg] d"n ;*s  -xofjL u|fe]n_ 
n] %'g] bfof+jfof+sf hUuf k|lt ju{ ld= ?  

375. 

2 af+sL ;a} jf*{sf] uf|e]n ;*sn] %f]Psf] hUuf 
k|lt ju{ ld^/ ?= 

300. 

3 ;a} jf*{sf] sRrL tyf Knl^é af^f]n] %f]Psf] 
hUuf k|lt ju{ ld^/ ?= 

200. 

4 jf*{ g+= 3, 9, / 4 sf] af^f] g%'g] v]tL of]Uo 
hUuf k|lt ju{ ld^/ ?= 

137. 

5 af+sL ;a} jf*{sf] af^f] g%'g] v]tL of]Uo hUuf 
k|lt ju{ ld^/ ?= 

110. 

 

2= cfduf%L -g=kf=_ 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 ;a} jf*{sf] sfnf] kq] af^f]n] %f]Psf] hUuf k|lt 

s&\&f ?= 
215000. 

2 ;a} jf*{sf] u|fe]n af^f]n] %f]Psf] hUuf k|lt 
s&\&f ?= 

137500. 

3 ;a} jf*{sf]  sRrL tyf Knl^é  af^f]n] %f]Psf] 
hUuf k|lt s&\&f ?= 

80000. 

4 ;a} jf*{sf] af^f] g%'g] v]tL of]Uo hUuf k|lt 
s&\&f ?= 

38000. 

 

3= uf]ljGbk'/ uf=lj=;= 

l;=g++ ljj/)F cf=j= 
075.076 

1 /+u]nL pnf{jf/L sfnf] kq] ;*sn] %'g] j*f g+= 
6.% / 7.u emk*tn ahf/ If]qsf] hUuf k|lt 
s&\&f ?= 

234000. 

2 uf]ljGbk'/ jf*{ g+= 6 / 7 cGtu{t 6.%, 7^, 
7& sf] u|fe]n jf^f]n] %'g] hUuf k|lt s&\&f ?= 

132500. 

3 *fO{lgof pQ/ lvvL/ *f+uL x'b} ky/L hfg] 
uf]ljGbk'/ uf=lj=;= jf*{ g+= 8 / 9 sf] 
sfnf]kq ;*sn] %'g] hUuf k|lt s&\&f ?= 

195000. 

4 uf]ljGbk'/ 8u / 8s ^s'jf hf]*\g] u|fe]n 110000. 



jf^f]n] %f]Psf] hUuf k|lt s&\&f ?= 
5 uf]ljGbk'/ 4em, 3% sf] u|fe]n jf^f]n] %f]Psf] 

hUuf k|lt s&\&f ?= 
120000. 

6 uf]ljGbk'/ 4~ sf] u|fe]n jf^f]n] %f]Psf] 
bfofafofsf] hUuf k|lt s&\&f ?= 

100000. 

7 uf]ljGbk'/ jf*{ g+= 1#, 1v ahf/ kl/;/sf] 
#*]/L hUuf u|fe]n jf^f]n] %f]Psf] hUuf k|lt 
s&\&f ?= 

130000. 

8 uf]ljGbk'/ 1u, 1&, 1^ nl/s§f pNn'#'§' u|fe]n 
jf^f]n] %f]Psf] bfofafofsf] hUuf k|lt s&\&f ?= 

120000. 

9 uf]ljGbk'/ jf*{ g+= 3s, 3u, 3# n]̂ L nl/s§f 
pNn'#'§' u|fe]n ;*sn] %f]Psf] bfofafofsf] hUuf 
k|lt s&\&f ?= 

100000. 

10 jf*{ g+= 6, 7 sf]  sRrL tyf Knl^é  af^f]n] 
%f]Psf] hUuf k|lt s&\&f ?= 

75000. 

11 dfly k|s/)fdf pNn]v eP afx]ssf cGo jf*{sf] 
u|fe]n ;*sn] %f]Psf] hUuf k|lt s&\&f ?= 

95000. 

12 dfly k|s/)fdf pNn]v eP afx]ssf sRrL tyf 
Knl^é ;*sn] %f]Psf] hUuf k|lt s&\&f ?= 

65000. 

13 jf*{ g+= 1v, 1u, 1# sf] af^f] g%'g] v]tL 
of]Uo hUuf k|lt s&\&f ?= 

45000. 

14 jf*{ g+= 6, 7 sf] af^f] g%'g] v]tL of]Uo hUuf 
k|lt s&\&f ?= 

40000. 

15 af+sL ;a} jf*{sf] af^f] g%'g] v]tL of]Uo hUuf 
k|lt s&\&f ?=  

35000. 

 

4= em'ls{of 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 /+u]nL pnf{jf/L ;*s v)*sf] sfnf] kq] ;*sn] 

%'g] j*f g+= 7v, 7u, / 8s sf bfofjfofsf  
hUuf k|lt s&\&f ?= 

480000. 

2 k|s/)f 1 df pNn]lvt jf*{sf] u|fe]n af^f]n] %'g] 
bfofjfofsf hUuf k|lt s&\&f ?= 

140000. 

3 k|s/)f 1 df pNn]lvt jf*{sf] sRrL af^f]n] %'g] 
hUuf k|lt s&\&f ?= 

95000. 

4 em'ls{of ahf/ jf*{ g+= 2s sf u|fe]n af^f]n] 
%'g] hUuf k|lt s&\&f ?= 

185000. 

5 k|s/)f 4 df pNn]lvt jf*{sf] sRrL af^f]n] %'g] 
hUuf k|lt s&\&f ?= 

125000. 

6 em'ls{of jf*{ g+= 1s, 1v, 5s, 6s, 6v sf] 
lkr af^f]n] %'g] hUuf k|lt s&\&f ?= 

250000. 



7 #? rf}s jf*{ g+= 5s u|fe]n ;*sn] %f]Psf] 
hUuf k|lt s&\&f ?= 

150000. 

8 k|s/)f 7 df pNn]lvt jf*{sf] sRrL tyf Knl^é 
af^f]n] %'g] hUuf k|lt s&\&f ?= 

95000. 

9 j*f g+= 9u, 9% / 9h sf] eb|rf]s pQ/ 
l;h'jf hfg] u|fe]n jf^f]n] %f]Psf] bfofjfofsf] 
hUuf k|lt s&\&f ?= 

125000. 

10 dfly k|s/)fdf pNn]v ePsf afx]ssf] ;a} 
jf*{sf] u|fe]n af^f]n] %'g] hUuf k|lt s&\&f ?= 

100000. 

11 dfly k|s/)fdf pNn]v ePsf afx]ssf] ;a} 
jf*{sf] sRrL af^f]n] %'g] hUuf k|lt s&\&f ?= 

75000. 

12 ;a} jf*{sf] v]tL of]Uo hUuf k|lt s&\&f ?= 40000. 
 

5= ^s'jf -g=kf=_ 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 /+u]nL pnf{jf/L ;*s v)*sf] sfnf] kq] ;*sn] 

%'g] bfofjfofsf hUuf k|lt s&\&f ?= 
215000. 

2 ;a} jf*{sf] u|fe]n ;*sn] %'g] hUufx? k|lt 
s&\&f ?= 

135000. 

3 ;a} jf*{sf] sRrL tyf Knl^é af^f]n] %'g] 
hUufx? k|lt s&\&f ?= 

90000. 

4 ;a} jf*{sf] af^f]n] g%'g] v]tL of]Uo hUuf k|lt 
s&\&f ?= 

37000. 

 

6= *fO{lgof 

l;=g++ ljj/)F 
cf=j= 

075.076 
1s k|s/)f 1s /+u]nL pnf{jf/L ;*sn] %'g] j*f g+= 

4, 6 / 8 sf] l;^ g+= 0724—4, 0725, 
725—3, 726, 0806, 766 sf] hUuf k|lt ju{ 
ld= ?=  

1475. 

1v k|s/)f 1s df pNn]lvt l;^ g+= x?sf] u|fj]n 
af^f]n] %f]Psf] hUuf k|lt ju{ ld= ?= 

690. 

1u k|s/)f 1s df pNn]lvt l;^ g+= x?sf] sRrL 
tyf Knl^é af^f]n] %f]Psf] hUuf k|lt ju{ ld= 
?= 

400. 

1# k|s/)f 1s df pNn]lvt l;^ g+= x?sf] v]tL 
of]Uo hUuf k|lt ju{ ld= ?= 

165. 

2s /+u]nL pnf{jf/L ;*sn] %'g] j*f g+= 4, 6 / 8 1300. 



sf] k|s/)f g+= 1s df pNn]lvt l;^ g+= x? 
afx]s cGo l;^ g+= x?sf] hUuf k|lt ju{ ld= 
?= 

2v k|s/)f 1s df pNn]lvt eP afx]ssf] j*f g+= 
4, 6 / 8 sf] l;^ g+= x?sf] u|fj]n af^f]n] 
%f]Psf] hUuf k|lt ju{ ld= ?= 

560. 

2u k|s/)f 1s df pNn]lvt eP afx]ssf] j*f g+= 
4, 6 / 8 sf] l;^ g+= x?sf] sRrL af^f]n] 
%f]Psf] hUuf k|lt ju{ ld= ?= 

340. 

2# k|s/)f 1s df pNn]lvt eP afx]ssf] j*f g+= 
4, 6 / 8 sf] l;^ g+= x?sf] v]tL of]Uo 
hUuf k|lt ju{ ld= ?= 

145. 

3s *fOlgof j*f g+= 6, 7, 8 / 9 sf] l;^ g+= 
0723, 0724, 685 sf ;fy} ;f] l;^ ;+u 
hf]l*Psf jf*{ g+= 7 / 9 sf] cGo l;^ g+=x? 
;d]tdf kg]{ sfnf] kq] af^f]n] %'g] hUuf k|lt 
ju{ ld= ?= 

915. 

3v k|s/)f 3s df pNn]lvt j*f g+= 7 / 9 sf] 
l;^ g+= x?sf] u|fj]n af^f]n] %'g] hUuf k|lt 
ju{ ld= ?=  

550. 

3u k|s/)f 3s df pNn]lvt l;^ g+= sf ;fy} j*f 
g+= 7 / 9 sf] l;^ g+= x?sf] sRrL tyf 
Knl^é af^f]n] %'g] hUuf k|lt ju{ ld= ?= 

290. 

3# k|s/)f 3s df pNn]lvt l;^ g+= sf ;fy} j*f 
g+= 7 / 9 sf] l;^ g+= x?sf] v]tL of]Uo hUuf 
k|lt ju{ ld= ?= 

120. 

4s j*f g+= 1, 2, 3, 5 sf] ;Dk")f{ l;^ g+= x?sf] 
sfnf] kq] ;*sn] %'g] hUuf k|lt ju{ ld= ?= 

655. 

4v k|s/)f 4s df pNn]lvt j*f g+= 1, 2, 3, 5 
sf] ;Dk")f{ l;^ g+= x?sf] u|fj]n ;*sn] %'g] 
hUuf k|lt ju{ ld= ?= 

425. 

4u k|s/)f 4s df pNn]lvt j*f g+= 1, 2, 3, 5 
sf] ;Dk")f{ l;^ g+= x?sf] sRrL tyf Knl^é 
af^f]n] %'g] hUuf k|lt ju{ ld= ?= 

266. 

4# k|s/)f 4s df pNn]lvt j*f g+= 1, 2, 3, 5 
sf] ;Dk")f{ l;^ g+= x?sf] af^f] gx'g] v]tL of]Uo 
hUuf k|lt ju{ ld= ?= 

110. 

 

7= bj]{zf 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 bj]{zf jf*{ g+= 1, 3, 5, 6 sf] /+u]nL sfg]kf]v/L 540000. 



;*sn] %'g] bfofjfofsf] hUuf k|lt s&\&f ?= 
2 bj]{zf 1u x'b} bj]{;f 2s, 2v sf] rlGb|sf 

l*li^n/Lsf] glhs af^ /+u]nL lj/f^gu/ ;*s 
%'g] u|fe]n ;*ssf] bfofjfofsf] hUuf k|lt 
s&\&f ?= 

400000. 

3 bj]{zf 1u ahf/ rf]s kl/;/sf] u|fe]n af^f]n] 
%'g] bfofjfofsf] hUuf k|lt s&\&f ?= 

450000. 

4 bj]{zf 1u pQ/ tkm{af^ sdn ;fxsf] #/ k"j{ 
bf]xdfgf hfg] u|fe]n af^f]n] %f]Psf] bfofjfofsf] 
hUuf k|lt s&\&f ?= 

270000. 

5 bj]{zf 2u sf] lkr ;*sn] %'g] hUuf k|lt 
s&\&f ?= 

400000. 

6 jf*{ g+= 2# lj/f^gu/ /+u]nL pnf{jf/L sfnf] 
kq] ;*sn] %'g] ls=g+= 12, 21, 25, 31, 32, 
33, 34, 35, 42, 44, 45, 47, 134, 135, 
138, 140, 142, 143, 144, 146, 148, 
149, 163, 164, 165, 166, 179, 180, 202, 
203, 226, 227, 228, 244, 245, 268, 
281, 282, 347, 348, 360, 361, 362, 363, 
399, 414, 416, 514, 515, 517, 518, 538, 
539, 582, 588 sf hUuf k|lt s&\&f ?= 

600000. 

7 bj]{zf 2# sf] u|fe]n ;*sn] %f]Psf] bfofjfofsf] 
hUuf k|lt s&\&f ?=  

325000. 

8 bj]{zf 2# sf] sRrL ;*sn] %f]Psf] bfofjfofsf] 
hUuf k|lt s&\&f ?= 

225000. 

9 bj]{zf 2# sf] v]tL of]Uo hUuf k|lt s&\&f ?= 125000. 
10 bj]{zf 5s ;/:jtL rf]s af^ k"j{ bj]{zf 8 

l:yt bf]xdfgf ahf/ hfg] u|fe]n af^f]n] %f]Psf] 
hUuf k|lt s&\&f ?= 

275000. 

11 bj]{zf 9 /GhgL ahf/ If]qsf] u|fe]n jf^f]n] 
%f]Psf] hUuf k|lt s&\&f ?=  

300000. 

12 bj]{zf jf*{ g+= 4v /+u]nL lj/f^gu/ sfnf] kq] 
;*sn] %f]Psf] hUuf k|lt s&\&f ?= 

450000. 

13 k|s/)f 12 df pNn]lvt j*fsf] u|fe]n ;*sn] 
%'g] hUuf k|lt s&\&f ?= 

300000. 

14 bj]{zf 8s / 8v bf]xdfgf ahf/ If]qsf] sfnf] 
kq] ;*sn] %'g] bfofafofsf] hUuf k|lt s&\&f 
?= 

350000. 

15 k|s/)f 14 df pNn]lvt j*fsf] u|fe]n ;*sn] 
%'g] bfofjfof hUuf k|lt s&\&f ?= 

290000. 

16 dfly k|s/)fdf pNn]v eP afx]ssf] cGo ;a} 
j*fsf] u|fe]n af^f]n] %f]Psf] hUuf k|lt s&\&f 
?= 

265000. 

17 dfly k|s/)fdf pNn]v eP afx]ssf] cGo ;a} 195000. 



j*fsf] sRrL tyf Knl^é af^f]n] %f]Psf] hUuf 
k|lt s&\&f ?= 

18 af^f]n] g%f]Psf] j*f g+= 2, 7 / 8 sf] v]tL 
of]Uo hUuf k|lt s&\&f ?= 

65000. 

19 af^f]n] g%f]Psf] jf*{ g+= 1, 3, 4, 5, 6 / 9 
sf] v]tL of]Uo hUuf k|lt s&\&f ?= 

75000. 

 

8= a/*+uf 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 /+u]nL pnf{jf/L sfn] kq] ;*sn] %f]Psf] jf* g+= 

7v, 7# sf] ;*ssf] bfofjfofsf] hUuf k|lt 
s&\&f ?= 

375000. 

2 k|s/)f 1 df pNn]lvt jf*{sf] u|fe]n af^f]n] 
%f]Psf] hUuf k|lt s&\&f ?= 

180000. 

3 k|s/)f 1 df pNn]lvt jf*{sf] sRrL tyf Knl^é 
af^f]n] %f]Psf] hUuf k|lt s&\&f ?= 

103000. 

4 a/*+uf jf*{ g+= 9s u'b|L ahf/ j/k/sf u|fe]n 
;*sn] %'g] hUuf k|lt s&\&f ?= 

135000. 

5 k|s/)f 4 df pNn]lvt jf*{sf] sRrL tyf 
Knl^é af^f]n] %'g] hUuf k|lt s&\&f ?= 

85000. 

6 dfly k|s/)fdf pNn]v eP afx]ssf ;a} jf*{sf 
u|fe]n ;*sn] %'g] hUuf k|lt s&\&f ?= 

120000. 

7 dfly k|s/)fdf pNn]v eP afx]ssf ;a} jf*{sf] 
sRrL tyf Knl^é ;*sn] %f]Psf] hUuf k|lt 
s&\&f ?= 

70000. 

8 ;a} jf*{sf] v]tL of]Uo hUuf k|lt s&\&f ?= 40000. 
 

9= alaofljtf{ 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 alaof j*f{ g+= 3km, 3a / 4# sf] /+u]nL 

lj/f^gu/ sfnf] kq] ;*sn] %'g] ahf/ If]qsf 
#*]/L hUufx? k|lt s&\&f ?=  

550000. 

2 k|s/)f 1 df pNn]lvt Ans g+= sf u|fe]n 
;*sn] %'g] hUufx? k|lt s&\&f ?= 

265000. 

3 k|s/)f 1 df pNn]lvt Ans g+= sf sRrL tyf 
Knl^é ;*sn] %'g] hUufx? k|lt s&\&f ?= 

200000. 

4 gx/ k"j{ :jf:Yo rf}sL uf=lj=;= ejg x'b} ljtf{ 
ahf/ hfg] jf*{ g+= 6v, 7s sf] u|fe]n af^f]n] 

210000. 



%'g] bfofjfofsf] hUufx? k|lt s&\&f ?= 
5 j*f g+= 7s  7v sf] ljtf{ ahf/ Pl/ofsf 

#*]/L hUufx? k|lt s&\&f ?= 
260000. 

6 hglk|o pRr df=lj=af^ klZrd hfg] jf*{ g+= 5 
sf] u|fe]n af^f]n] %f]Psf] hUufx? k|lt s&\&f 
?= 

195000. 

7 dfly k|s/)fdf pNn]v eP afx]ssf] ;a} jf*{sf] 
u|fe]n ;*sn] %'g] hUuf k|lt s&\&f ?= 

180000. 

8 dfly k|s/)fdf pNn]v eP afx]ssf] ;a} jf*{sf] 
sRrL tyf Knl^é ;*sn] %'g] hUuf k|lt s&\&f 
?= 

160000. 

9 alaof jf*{ g+= 3 / 4 sf] v]tL of]Uo hUuf 
k|lt s&\&f ?= 

75000. 

10 cGo jf*{sf] v]tL of]Uo hUuf k|lt s&\&f ?= 60000. 
 

10= dxfb]jf 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 dxfb]jf 6v lk*fnL rf]s cGtu{t kg]{ ahf/ 

j/k/sf] hUuf k|lt s&\&f ?=  
160000. 

2 xg'dfg rf]s jf*{ g+= 4s cGtu{t kg]{ df=lj= 
:s'n / uf=lj=;= ejg If]q j/k/ af^f] b]vL 
100 ld= leqsf hUuf k|lt s&\&f ?= 

140000. 

3 eb| rf]s b]vL rF}sL #f+̂  x'b} uf=lj=;= lt/ hfg] 
j*f g+= 2, 3 / 4 sf] u|fe]n af^f]n] %'g] 
hUuf k|lt s&\&f ?= 

100000. 

4 dfly k|s/)fdf pNn]v eP afx]ssf] cGo ;a} 
jf*{sf] u|fe]n ;*sn] %'g] hUuf k|lt s&\&f ?= 

75000. 

5 dfly k|s/)fdf pNn]v eP afx]ssf] cGo ;a} 
jf*{sf] sRrL af^f]n] %'g] hUuf k|lt s&\&f ?= 

50000. 

6 af^f] g%'g] v]tL of]Uo hUuf k|lt s&\&f ?= 30000. 
 

11= /+u]nL g=kf= j*f g+= 1 

l;=g++ ljj/)F cf=j= 
075.076 

-1_ 
s 

/+u]nL g=kf= jf*{ g+= 1 sf] l;^ g+= 720–12, 
720–17, 720–22, 760–02, 760–03, 760–04 
sf] lj/f^gu/ /+u]nL pnf{jf/L sfnf] kq] ;*sn] 
%f]Psf] hUuf k|lt ju{ ld= ?= 

3000. 

v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 1770. 



u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  
u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 

sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

1350. 

# dfly k|s/)fdf pNn]lvt l;^ g+= x?sf] af^f]n] 
g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

330. 

-2_ 
s 

jf*{ g+= 1 sf] l;^ g+= 720–23, 720–18, 
720–13 sf] /+u]nL sfg]kf]v/L / /+u]nL ^s'jf 
hfg] sfnf] kq] ;*sn] %f]Psf] hUuf k|lt ju{ 
ld= ?= 

1980. 

v k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1560. 

u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

1060. 

# k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

300. 

-3_ 
s 

k|s/)f g+= 1 / 2 df pNn]v eP afx]ssf l;^ 
g+= x?sf] sfnf] kq] ;*sn] %f]Psf] hUuf k|lt 
ju{ ld= ?= 

1450. 

v k|s/)f g+= 3s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1080. 

u k|s/)f g+= 3s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

720. 

# k|s/)f g+= 3s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

210. 

 

/+u]nL g=kf= j*f g+= 2 

l;=g++ ljj/)F 
cf=j= 

075.076 
-1_ 
s 

/+u]nL g=kf= jf*{ g+= 2 sf] l;^ g+= 760–03, 
760–04, 760–02, 720–23, 720–22, 720–18 
sf] lj/f^gu/ /+u]nL pnf{jf/L ;*s / cGo d"n 
;*sn] %'g] kSsL af^f]sf] hUuf k|lt ju{ ld= 
?= 

2175. 

v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1510. 

u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

1060. 

# dfly k|s/)fdf pNn]lvt l;^ g+= x?sf] af^f]n] 300. 



g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 
-2_ 
s 

k|s/)f g+= 1s df pNn]v eP afx]ssf l;^ g+= 
x?sf] sfnf] kq] ;*sn] %f]Psf] hUuf k|lt ju{ 
ld= ?= 

1650. 

v k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1100. 

u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

800. 

# k|s/)f g+= 3s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

210. 

 

/+u]nL g=kf= j*f g+= 3 

l;=g++ ljj/)F 
cf=j= 

075.076 
-1_ 
s 

/+u]nL g=kf= jf*{ g+= 3 sf] l;^ g+= , 760 sf] 
/+u]nL ahf/af^ blIf)f hfg] kSsL af^f]n] %f]Psf]  
hUuf k|lt ju{ ld= ?= 

1180. 

v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1100. 

u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

530. 

# dfly k|s/)fdf pNn]lvt l;^ g+= x?sf] af^f]n] 
g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

200. 

-2_ 
s 

k|s/)f g+= 1s df pNn]v eP afx]ssf l;^ g+= 
x?sf] sfnf] kq] ;*sn] %f]Psf] hUuf k|lt ju{ 
ld= ?= 

1075. 

v k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

755. 

u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

500. 

# k|s/)f g+= 3s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

190. 

 

/+u]nL g=kf= j*f g+= 4 

l;=g++ ljj/)F 
cf=j= 

075.076 
-1_ /+u]nL g=kf= jf*{ g+= 4 sf] l;^ g+= 720, 2000. 



s 760–04 sf]  /+u]nL pnf{jf/L sfnf] kq] ;*sn] 
%'g] hUuf k|lt ju{ ld= ?= 

v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1300. 

u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

945. 

# dfly k|s/)fdf pNn]lvt l;^ g+= x?sf] af^f]n] 
g%'g] hUuf k|lt ju{ ld= ?= 

280. 

-2_ 
s 

k|s/)f g+= 1s df pNn]v eP afx]ssf l;^ g+= 
x?sf] sfnf] kq] ;*sn] %f]Psf] hUuf k|lt ju{ 
ld= ?= 

1385. 

v k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1020. 

u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

700. 

# k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

230. 

/+u]nL g=kf= j*f g+= 5 / 6 

l;=g++ ljj/)F cf=j= 
075.076 

-1_ 
s 

/+u]nL g=kf= jf*{ g+= 5 / 6 sf] l;^ g+= 681, 
682, 721, 722 sf]  /+u]nL pnf{jf/L sfnf] kq] 
;*sn] %'g] hUuf k|lt ju{ ld= ?= 

1440. 

v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

890. 

u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

525. 

# dfly k|s/)fdf pNn]lvt l;^ g+= x?sf] af^f]n] 
g%'g] hUuf k|lt ju{ ld= ?= 

195. 

-2_ 
s 

k|s/)f g+= 1s df pNn]v eP afx]ssf l;^ g+= 
x?sf] sfnf] kq] ;*sn] %f]Psf] hUuf k|lt ju{ 
ld= ?= 

1165. 

v k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

745. 

u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

445. 

# k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

170. 

 



/+u]nL g=kf= j*f g+= 7 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 
 

/+u]nL g=kf= jf*{ g+= 7 sf] l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?= 

525. 

2 /+u]nL g=kf= jf*{ g+= 7 sf] ;a} l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

400. 

3 af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 155. 
 

/+u]nL g=kf= j*f g+= 8 

l;=g++ ljj/)F 
cf=j= 

075.076 
1s 
 

/+u]nL g=kf= jf*{ g+= 8 sf] l;^ g+= 718 sf] 
lj/f^gu/ /+u]nL sfnf] kq] ;*sn] %f]Psf]  
hUuf k|lt ju{ ld= ?= 

1215. 

1v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?= 

790. 

1u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Kn^Lé af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

420. 

1# k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] hUuf k|lt ju{ ld= ?= 

220. 

2s k|s/)f g+= 1s df pNn]v eP afx]ssf l;^ g+= 
x?sf] kSsL af^f]n] %'g] hUuf k|lt ju{ ld= ?= 

980. 

2v k|s/)f g+= 2s df pNn]v eP afx]ssf l;^ g+= 
x?sf] u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= 
?= 

690. 

2u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
afx]ssf sRrL tyf Knl^é af^f]n] %'g] hUuf 
k|lt ju{ ld= ?= 

415. 

2# cGo af^f] g%'g] hUuf k|lt ju{ ld= ?=  200. 
 

/+u]nL g=kf= j*f g+= 9 

l;=g++ ljj/)F cf=j= 
075.076 

1 
 

/+u]nL g=kf= jf*{ g+= 9 sf] ;a} l;^ g+= x?sf] 
u|fe]n af^f]n] %f]Psf]  hUuf k|lt ju{ ld= ?= 

490. 

2 ;a} l;^x?sf] sRrL tyf Kn^Lé af^f]n] %'g] 370. 



hUuf k|lt ju{ ld= ?= 
3 af^f] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 150. 

 

12= l;h'jf 

l;=g++ ljj/)F cf=j= 
075.076 

1 
 

/+u]nL pnf{jf/L sfnf] kq] ;*s leq kg]{ jf*{ 
g+= 4v, 4h, 4*, 4)f, 8u, 8r, 8t, 8y, 
8g / 8k sf bfofjfofsf hUuf k|lt s&\&f ? 

720,000. 

2 bfd|fle§f ahf/ kl/;/ jf*{ g+= 5r, 5% sfnf] 
kq] ;*sn] %'g] bfofjfofsf hUuf k|lt s&\&f 
?= 

720000. 

3 l;h'jf ahf/ If]q jf*{ g+= 2s, 2v, 3v, 3u 
sf] u|fe]n af^f]n] %f]Psf] bfofjfofsf hUuf k|lt 
s&\&f ?= 

420000. 

4 k|s/)f g+= 1 / 2 df pNn]lvt j*f Jns g+= 
/ 4em, 8&, 8*, 8(, 8)f sf] u|fe]n ;*sn] 
%'g] bfofjfofsf hUuf k|lt s&\&f ? 

375000. 

5 sfb'kf*f k"j{ rf]s b]lv l;h'jf ahf/ hfg] jf*{ 
g+= 4s sf] u|fe]n ;*sn] %f]Psf] bfofjfofsf 
hUuf k|lt s&\&f ? 

300000. 

6 l;h'jf 4& sfb'kf*f klZrd rf}s b]lv zflGt 
k'/ x'+b} uf]ljGbk'/ hfg] u|fe]n af^f]n] %f]Psf] 
hUuf k|lt s&\&f ?= 

190000. 

7 l;h'jf 4* lqe'jg rf}saf^ klZrd uf]ljGbk'/ 
hfg]] u|fe]n af^f]n] %f]Psf] hUuf k|lt s&\&f ?= 

190000. 

8 l;h'jf 6u, 8h l;h'jf ahf/af^ em'ls{of hfg] 
u|fe]n af^f]n] %f]Psf] hUuf k|lt s&\&f ?= 

220000. 

9 k|s/)f 1, 2, 3, 4 df pNn]lvt j*fsf] Jns 
g+= x?sf] sRrL tyf Knl^é af^f]n] %f]Psf] 
hUuf k|lt s&\&f ?= 

250000. 

10 dfly pNn]lvt eP afx]ssf] cGo j*fsf] u|fe]n 
af^f]n] %f]Psf] hUuf k|lt s&\&f ?= 

165000. 

11 k|s/)f 1, 2, 3, 4 df pNn]lvt eP afx]s 
cGo ;a} j*f{sf] sRrL tyf Knl^é af^f]n] 
%f]Psf] hUuf k|lt s&\&f ?= 

120000. 

12 k|s/)f 1, 2, 3, 4 sf] j*f Jns g+= x?sf] 
v]tL of]Uo hUuf k|lt s&\&f ?= 

75000. 

13 dfly pNn]lvt afx]s cGo ;a} j*f Jns g+= 
x?sf] v]tL of]Uo hUuf k|lt s&\&f ?= 

50000. 

 



13= ;f]/fefu jf* g+= 1 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 ;f]/fefu jf*{ g+= 1 sf] ;a} l;^ g+= x?sf] 

u|fe]n af^f]n] %f]Psf] hUuf k|lt ju{ ld= ?= 
415. 

2 ;a} l;^ g+= x?sf] sRrL tyf Knl^é af^f]n] 
%'g] hUuf k|lt ju{ ld= ?= 

370. 

3 af^f] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 130. 
 

;f]/fefu jf* g+= 2 / 3 

l;=g++ ljj/)F 
cf=j= 

075.076 
-1_ 
s 

;f]/fefu jf*{ g+= 2 / 3 sf] l;^ g+= 713–02, 
714–1, 674–3, 714 / 715 leq kg]{ lj/f^gu/ 
/+u]nL ;*sn] %'g] sl;{of ahf/ If]qsf] bfofjfof 
hUuf k|lt ju{ ld= ?= 

2800. 

1v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

1310. 

1u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

660. 

1# dfly k|s/)fdf pNn]lvt l;^ g+= x?sf] af^f]n] 
g%'g] hUuf k|lt ju{ ld= ?= 

220. 

-2_ 
s 

k|s/)f g+= 1s df pNn]v eP afx]ssf cGo 
l;^ g+= x?sf] sfnf] kq] ;*sn] %f]Psf] hUuf 
k|lt ju{ ld= ?= 

1980. 

2v k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
u|fe]n af^f]n] %'g] hUuf k|lt ju{ ld= ?=  

925. 

2u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é tyf gx/n] %f]Psf] hUuf k|lt 
ju{ ld= ?= 

465. 

2# k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

150. 

 

;f]/fefu jf* g+= 4 

l;=g++ ljj/)F 
cf=j= 

075.076 
-1_ 
s 

;f]/fefu jf*{ g+= 4 sf] l;^ g+= 754 sf] u|fe]n 
af^f]n] %'g] hUuf k|lt ju{ ld= ?= 

1320. 



1v k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ 
ld= ?= 

735. 

1u k|s/)f g+= 1s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] hUuf k|lt ju{ ld= ?= 

150. 

-2_ 
s 

k|s/)f g+= 1s df pNn]v eP afx]ssf cGo 
l;^ g+= x?sf] u|fe]n af^f]n] %'g] hUuf k|lt 
ju{ ld= ?= 

760. 

2v k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
sRrL tyf Knl^é tyf gx/n] %f]Psf] hUuf k|lt 
ju{ ld= ?= 

510. 

2u k|s/)f g+= 2s df pNn]lvt l;^ g+= x?sf] 
af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 

140. 

 

;f]/fefu jf* g+= 5, 6 / 7 

l;=g++ ljj/)F cf=j= 
075.076 

1 ;a} l;^ g+= x?sf] u|fe]n af^f]n] %'g] hUuf 
k|lt ju{ ld= ?= 

450. 

2 ;a} l;^ g+= x?sf]] sRrL tyf Knl^é af^f]n] 
%'g] hUuf k|lt ju{ ld= ?= 

350. 

3 af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 130. 
 

 

;f]/fefu jf* g+= 8 / 9 

l;=g++ ljj/)F 
cf=j= 

075.076 
1 ;f]/fefu jf*{ g+= 8 / 9 sf] l;^ g+= 716, 

717 sf] /+u]nL lj/f^gu/ sfnf] kq] ;*sn]  
%'g] hUuf k|lt ju{ ld= ?= 

1035. 

2 jf*{ g+= 8 / 9 sf] ;a} l;^ g+= x? sf] 
u|fe]n ;*sn]  %'g] hUuf k|lt ju{ ld= ?= 

530. 

3 jf*{ g+= 8 / 9 sf] ;a} l;^ g+= x?sf]]] sRrL 
tyf Knl^é af^f]n] %'g] hUuf k|lt ju{ ld= ?= 

370. 

4 af^f]n] g%'g] v]tL of]Uo hUuf k|lt ju{ ld= ?= 130. 
 

 



-#*]/L hUufnfO{ nlIft ul/Psf]_ 

1_ o; dfnkf]t sfof{no /+u]nL cGtu{t kg]{ ;Dk")f{ uf=lj=;= tyf 
g=kf=sf] hUufx? vl/b ljqmL ubf{ uf=lj=;= tyf g=kf= sf] Go"gtd 
lsQf ldnfg afx]s 0Y1Y10Y0 ;Dd hUufdf :yflgo lgsfosf] 
l;kmfl/;df #/ af^f] g%f]Psf] elg ls^fgL l;kmfl/; ePtf klg 
pNn]lvt If]qkmnsf] d'No sRrL af^f]n] %f]Psf] d"No sfod u/L lnvt 
kf/Lt ug'{kg]{ % . 

2_ ;*s bfofjfofsf hUuf eGgfn] æ#/ sDkfp)* hf]l*Psf 
sDkfp)*leqÆ / -;f]xL_ c?sf] xsdf ;*s lsgf/f b]lv 150 
lkm^;DdnfO{ tf]lsPsf ;*s d"NodfgL af+sLnfO{ :ynut ?kdf x]bf{ 
rngrNtL eGbf km/s k/]df ;f]xL j*fsf] qmdzM bf]>f], t]>f] / 
;*s eGbf aflx/sf] hUuf dfGg' kg]{ % . 

3_ d'Vo ;*s ;xfos ;*s hf]l*Psf] &f+psf] ;*s lsgf/fsf] hUuf 
dWo] h'g ;*s lt/sf] d"No a(L x'G% ;f]xL cg';f/sf] d"No sfod 
x'G% . 

4_ dfyL pNn]lvt bkmfdf pNn]v eP aflx/sf If]q juL{s/)f u/L 
d"Nof°g tf]Sg] s'g} If]q %'̂  ePsf] kfO{Pdf juL{s/)f u/L d"Nof°g 
tf]lsPsf] ;f+w hf]l*Psf] uf=lj=;= tyf j*fsf] ;*s bfofjfofsf 
d"Nof°g x]l/ h'gtkm{ a(L x'G% ;f]xL cg';f/sf] d'No sfod /fVg] . 

5_ xfn gfkL x'+bf ju{ ld^/ gfkL ePsf hUufsf] d"No sfod ubf{ 
ju{ld^/nfO{ s&\&fdf kl/)ft u/L x'g cfpg] d"Nodf g# \̂g]u/L 
d"Nof°g sfod u/L lnvt kfl/t ug]{ . 

6_ kfl/t x'g cfpg] hUufsf] lnvtdf hUufsf] ljj/)f ;*ssf] ljj/)f 
#/, uf]bfd, km}S <̂L ;d]tsf] ljj/)f v'nfpg] / #/af^f] Plsg u/L 
d"No /fVg nufP/ dfq lnvt kfl/t ug]{ . 

7_ ju{ ld= v'nfO{ gfkL ePsf]df ju{ ld= cg';f/ d"Nof°g;+u af+lemPdf 
af+lemPsf] hltdf csf]{ ;dfgfGt/sf] dflysf] d"No cg';f/sf] x'g] % . 

8_ ;j]{ gfkL ePsf] cj:yfdf #/ af^f] geO{ gS;faf^ #/ af^f] ;*s 
:ki^ gx'g] jf gv'Ng] x'+bf :ynut lg/LIf)f u/L u/fO{ Plsg ePkl% 
dfq kfl/t ug'{kg]{% . 



9_ kfl/t x'g cfpg] lnvtdf #/af^f]sf] ;DaGwdf ljjfb ePdf :yflgo 
lgsfosf] l;kmfl/;nfO{ cfwf/dfgL lnvt kfl/t ul/lbg'kg]{ % . 

10_ dfly ljleGg k|s/)fdf lsQf ;d]t pNn]v u/L ;*s bfofaf^ 
tf]lsPsf lsQfx? afx]s cGo lsQfn] klg ;f]xL ;*s %f]Pdf tL 
lsQf / tL lsQfaf^ af+sL /x]sf] ls=g+= sf] d"Nof°g klt tf]lsPsf] 
lsQf ;/x x'g]% . 

11_ dfly ljleGg k|s/)fdf pNn]v ePsf] hUuf jf lsQfx?af^ lsQfsf^ 
e} sfod ePsf lsQfx?sf] d"Nof°g Plsg ubf{ ;DalGwt g=kf= tyf 
uf=lj=;= sf] xsdf g=kf= tyf uf=lj=;= sf] l;kmfl/;nfO{ d'Vo 
cfwf/dflg #/af^f]sf] d"Nof°g Plsg u/L lnvt kfl/t ug'{kg]{ % . 

12_ xfn ;fljs nfu' ePsf gu/kflnsf uf=lj=;=sf hUufx?sf] d"Nof°g 
;fljs j*f g+= adf]lhd nfu' x'g] % . 

13_ uf=lj=;=÷g=kf=sf] gx/ %'g] hUufnfO{ cj:yf x]l/ sRrL jf u|fe]n 
dflgg]% . 

14_ gof+ gfkL ePsf gu/kflnsf / uf=lj=;= x?sf] d"Nof°g tof/ ubf{ 
e'n a; s'g} l;^ g+= %'̂  xg uPsf]df glhs}sf] l;^ g++= ;/xsf] 
Go"gtd df]n sfod ul/g]% . 

15_ d"n ;*saf^ ;xfos ;*s ;xfos ;*saf^ zfvf ;*s, zfvf 
;*saf^ bfofjfofsf] ;*s, n'k ;*s / ;f]df sfod cGo ;*s 
lelq ;*s dflgg] % . 

 

O{lt>L . 


